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YOUNG WUMEN 14 - 24  CUODEBUOK SUPPLEMENT APPENDIX .23 b

DERIVATION OF R{5U31e)9R(5032.)9R{50334)9R(50344)9R(5035e1)0
5 RAS5U36e)9sR(5037«)9R(5035e)9rR(5039e)9R(5040e1)
R(Su#l.)9R(3042.)9Q(5043.)o&(SO#h.),R(5045.)v
R(5047)
DAYY=RI{B85ce); MO9=R(s51le); YRIFRI(8554);
InDUS=NA; OCC=NA; WAGE=NA; HRS=NA; MONTHS=NA; YSTOP=NA; ACTHRS=NA; MSTOP=NA;
JrID1=0; CLASS=NA; MSTAKRT=NA; YSTART=NA; COLBAR=NA; RLFT=NA; MLEAVE=NAj;
IF RI{1355.)-=NA & R(852e4)1=NA & R{351le)=NA & R(853.)=NA THEN DO;
DAY9I=22; M09=1l; YRY=09; END;
IF K(4942.60)-=NA & R(4942.61)~= NA & R(4942.62)-~=NA
THEN BIRTHLI=xk(4942. 6&)‘10000 + -

. R(4942Z. 60)%100 + R(4942.61); ELSE BIRTH1=NAj
IF R(234)-=NA" & R{224)-3NA & R(Z4e)-=NA : THEN INT8 =R(24)%10000 +
R(22)%100 + R(23.)3 ELSE INT8 =NAj;
IF DAYY-=NA & M09-~=NA & "YRG==NA THEN INT3 =YRG9*10000 +
MO5=100 + DAY9; ELSE INT9 =NAj;

IF K(1451e)~=NA £ R(1452e)-=Na & R(1452.5)-=NA
THEN INTO X=(1334)%10000 +

CR(14514)%100 + R(14524); ELSE INTO =NA;

IF R(2518.)~=NA & R(25194)-=NA & R(2520.)-~=NA THEN INT1 =R(2520.) %1001
R(251841%100 + R(2519); ELSE INT1 =NA; '

IF R(3332.)-=nA & R(3331e)-=NA * THEN INT2 =72%10000 +
R(33314)%100 + R(3332.); - ELSE INT2 =NA;

IF R(4151¢)-=NA & R(41i50¢)~=NA THEN INT3 =73%10000 +
R(4150)%100 + R(4151e); ~ ELSE INT3 =NA;

N
START3=NA . :
IF R{192e)~=NA & R(1934)-=NA THEN START8=R(193.)%10000 +
: R(192.)=100 + 15;

IF K{19Z2«) =NA & R(193.)-=NA THEN START8=R(193.)%10000 =+
7153

BLNTBV NA ;

IF R(1027e)-=NA & R{1U28e)~=NA
THeN BINT89=x(1028.)%10000 + : , o
R(1027.)%100 + 15; .
IF K(1027«) =NA & R{1028e)-=NA
THeN BINT89=R(1028.)*10000 + ..
7153 . . ) -

SINT89=NAj;
IF R(1029e)~={A & R{103U«)==NA
THEN SINT89=R(1030.)%*10000 +
R{1029.)%100 + 153
IF R({10c9«) =NA & R(1U3Ue)==NA
THEN SINT89=k(1030.)310000 +
7153




STARTS=NA; Ny
IF R(9Y91le)-=NA & R(992«)-=NA
R(99141%100 + 15,
IF R{991.) =NA & R(992.)~=NA
IF R(991e) =NA & R(992e)-=NA
7153

DLUNH6B=NA;
IF R(18Ue)-=NA & R(179e)-=NA
; RK{179«1)%100 + 15;
IF K({1BUe)==NA & R{179«}) =NA
7153

DLOLE3=NA; :
IF R(183e)~=NA & R(182e)-=NA

R{182e 1100 + 15;
IF R{183e)~=NA & R{1B2e) =NA

7153

DLUNG6Y=NA,; DUM1=NAj;
IF R(979.)=1
IF R(9Y79e)=1 & R(J80e)>R(351)
IF R{979e)=1 & R{980.)>=4 & R(980.)<K=12
IF R(9BUe)==NA & OUMl-=NA
R(980e)*100 + 15; .

DLOL6I=NA;
IF R(982e)-=NA & R{983.)-=NA
R(98241%100 + 153
IF R(98ce) =NA & R{9I83.)-=NA
7153
IF RULTT74e)~=NA & R(1775e1-~=NA & R{1777«)-~=NA
R(17756)%100 + R(17764)3
IF R{1779.)-=0A & R(1778«)1-=NA & RK{1730.)-=NA
R{1778.)%100 + R(1779e13
IF R{1741e)-=nNA & RI{1T74Ue)-=NA & RI1742.)-=NA
R{17406)%100C + R(1741le);
IF R(1T444)-=NA & R(1743.)-=NA & R(17454)-=NA
R(1743)%100 + R{1744%.);
IF K{iTube)~=nA & R(1705«)-=NA & R{1T70Te)==NA
R(1735.)%100 + R(17064)3
IF R{1709.)-=NA & R(17CBe)-=NA & RI(1710e)~=NA
R(17UB841%100 + R(1709e1};
IF RU1665e)==iHA & R{1lo65¢)-=NA & R({1667«)-=NA
R{16656)%100 + R(l66bo.];
IF K{1663.)-=NA & R(12968e)-=NA & R(16704)==NA
R(16084)%100 + R(1669e)3

IF K{1628B+4)1-=NA & R(1627«)1-=NA & R(1629.)-~=NA
RU162Te)100 + R(1628e)3
IF K(1631e)-=NA & R(1530e)-=NA & R(1632.)~=NA
R{16304)%100 + R(1531e)3
IF R(15855e)-=nNA & R(1584e¢)-=NA & R(15564)-=NA
R(15844)%100 + R(1585.1)3
IF RU28U3e)-=NA & R(2802¢)-=NA & RI(2B04s)-=NA
R(28JU24)%100 + R(2803.);
IF K(ZBUbe)-=NA & R(2305¢)-=NA & R(28BUT«)==NA
R(28U5.):100 + R(2300.);
IF R(2709.)~=NA & R(2768e)-=NA & R(2770.)-~=NA
R(27084)%100 + R(276Ge);
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THEN START9=R{992.)%10000 +

THEN START9=rk(992.)%10000 +
THEN START9=R(992.)%*10000 +

THEN DLUN68=R{180.)%10000 +

THEN DLUN6B8=R({180.)%10000 +

THEN DLOL68=KR(183.)%10000 +

THEN DLOL68=R(183.)%*10000 +

THEN DUM1=69
THEN DUM1=68;
THEN DUM1=68;
THEN DLUN69=DUM1%=10000 +

THEN DLOL69=R (983,):10000 +
THEN DLOL69=R(983.):10000 +

THEN BINTOS5=R(1777.)%*1000
ELSE BINTOS5=NA;

TAEN SINTOS5=R(1780.) %1000
ELSE SINTO5=NAj;

THEN BINTO04=R(1742.)%1000
ELSE BINTO4=NA;

THEN SINTO4=R(1745.)%1000
ELSE SINTO4=NAj;

THEN BINTO3=R(1707.)%100C
ELSE BINTO3=NAj;

THEN SINTO3=R(1710.)*100C
ELSE SINTO3=NAj; A
THEN BINTO2=R(1667.)*100C
ELSE BINTOZ=NAj;

THEN SINTO02=R(1670.)*100C
cLSE SINTOZ2=NAj

THEN BINTO1l=R({1629.)#*100(
ELSE BINTO1l=NA;

THEN SINTO1=R(1632.)%100¢
ELSE SINTOLl=NAj;

THEN STARTO=R(1586.)%100¢
ELSE STARTO=NA;

THEN BINT14=R(28044)*100(
ELSE BINT14=NA;

THEN SINT14=R(2807.)*100t
ELSE SINT14=NAj;

THEN BINT13=R(2770.)*10C
ELSE BINT13=NAj;
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F R{53477.

RIZ2TT2e)-=ilA
R(27354)-=NA

R(27384)==NA

R (_;7Ul. )~=NA

R2T04e)~=nA
K(2654.)~=iNA
K({36584)~=NA

36514 )-=NA
R3621e)-=NA
R{3624e)-=NA
R({3583e)-=NA
x{3586+)~=NA
R{35454)~=NA
K{35484)-=nNA
) ~=NA
R(4479.)-=NA
R{4432.)~=NNA
K(444]1 ) -~=NA
R{4443.)-=NA
R{440U3e)-=NA
R(44064)-=NA
R{4305¢)-=NA
R{43684)=NA
ﬁ(»ZdB.)ﬂ=NA
R{L16UZ2e)=iHA

R(26724)~=NA

K{3517e)-=NA
RI351Te)~=nNA

K(4337a)~=iNA

R(27T1e)V~=NA & R(2T734)-=NA
R(2TT1e)%100 + R(2772e)3
R(2734e)==NA t R(27364)-=NA
RI2T344)%1060 + R(27354);
R(2737¢)~=NA & R(2739.)~=NA
R(£T37.)15100 + R(2738e);
R(270Ue)~=NA & K(2TO2e)=iA

R{27T00.)%1U0 + R(2701le);
R(2703e)~=NA & R(2705«)-=NA
R{Z27U3)%10C + R(27044)3

R(2653e)m~=Na & R{2655¢)-=NA
R(26534)%100 + R(265%4);
R(3559¢)1-=NA & K(36604)-=iNA

PR(36584)%100 + R(3055%e);
R(3662¢)-=NA & RI(3663¢)-=NA
R(3661e)%100 + R(366241);
R(352Ue)==NA & R(36224)-=iHA
R(36204)%100 + R(3621e)3"
R(3623e)-=NA & R(36254)-=NA
R{36234)%100 + R(356244);
R(3582e¢)==NA & KI(35844¢)~=NA
R(35824)%100 + R(35834);
R(3585¢)-=NA & R{3537.)-=NA
R{35354)x100 + R(358 00);
R(3544¢)-=NA & R(35464)-=NA
R(35444)%1U0 + R(35454);
R(3547e)-=NA & R(3549¢)~=NA
R(3547e)%100 + R(35484);
R(3476e)-=NA & R(34784)-=NA
K(34766)%100 + R(3477e1);
R(4478e)-=NA & R(44304)-=NA
R{44784)%100 + R(4479e);

R{4481le)-=NA & R{4483.)~=NA

R(44814)%1U0 + R(44824);
R(4440e)-=NA & R(44424)-=NA
R{44404)%130 + R{4441e);
R(44530)“—NA & K(ﬁ4#4o)“—NA
R(44504,)%100 + Q(4943o),
R(4402¢)1-=NA & R(4404.)-=NA
R{44024)%100 + R(4403.);
R{44054)1-=NA & R{440C7.)-=NA
R(4455.)%100 + R(4405.);
R{4364e)~=NA & R(4366.)-=NA
R{4364.,)1%100 + R(4365.);
R(436Te)-=NA & R(4369+)-=NA
R(4367)%100 + R(43684);
Ri428T7e)-=NA & R(4259.)-=NA
R(4287«)%100 + R(4288.41);
R(1603.)-=NA & R(1604.)-=NA
R{16U2)%100 + R(1603.);
R{126T3e)-=NA & R{26744)-=NA
R(26T72.)1%100 + R(26734)3%
R{3510e)-=NA & R(35184)-=NA
R({35166)-=NA & R(3518.)-=NA
R(3%16e6)%1U0 + R(3517.);
R(43306)-=NA & R({4338+4)-=NA
R{43366)%100 + R(43374);

. THEN BINT22=R(3584.)%
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THEN SINT13=R(27734) =
ELSE SINT13=NA;

THAEN BINT12=R(2736.)*1000C
ELSE BINT12=NA;

THEN SINT12=R{2739.)#%1000C
ELSE SINT12=NA;

THEN BINT11=R(2702.)*1000C
ELSE BINT11=NA;

THEN SINT11=R(2705.)%
ELSE SINT11=NA;

THEN START1=R(2655.)*1000C
ELSE START1=NA;

THEN BINT24=R(3660.)%
ELSE BINT24=NA;

THEN SINT24=R (3663,
ELSE SINT24=nNA;

THEN BINT23=R(3622.) %
ELSE RBRINT23=NA;
THEN SINT23=R(36254)*1000C
ELSE SINT23=NA;

10000

1000C

<1 000C
)=1000C

1000¢

1000¢
ELSE BINT22=NAj;
THAEN SINT22=R(3587.
ELSE SINT22=NAj;
THEN BINT21=R(3546.)%

*1000(

1000¢

ELSE BINT21=NA;

THEN SINTZ21=R(3549.)*1000(
ELSE SINTZ21=NA;

THEN START2=R(3478.)*1000(
ELSE STARTZ2=NA;

THEN BINT34= R(4480.)”1000C
ELSE BINT34=NAj

THEN SINT34=R(4483,.)%1000(
ELSE SINT34=NAj

THEN BINT33=R (4442 ) %1000
ELSE BINT33=NA;

THEN SINT33= R(4444.)"1000(
ELSE SINT33=NA;

THEN BINT32=R (44044 ) 10001
ELSE BINT32=NAj;

THEN SINT32=R(4407.)*1000¢
ELSE SINT32=NA;
THEN BINT31=R ({4356
ELSE BINT31=NA;
THEN SINT31=R(4369.)%*1000
ELSE SINT31=NAj;

THEN START3=R(4289.)%1000
ELSE START3=NA;

« }*1000!

THEN BCJO =R (1604.)*1000
ELSE BCJO =NAj;
TAEN BCJ1 =R(26T74.)%1000
ELSE BCJLl =NA;
THEN BCJ2 =R(3518.)*1000
THEN BCJ2 =R(3518.)}%*1000
ELSE BCJ2 =NA;
THEN BCJ3 =R(4338.)%1000
ELSE BCJ3 =NAj;
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"BIRTHI=NA | SIKTHIKINTS | (INTs~=NA & BIRTHI>INT3 THEN GO TO NAED;
R(5020e)=1 & R(le)=3442 THEN GO TO STEP3;
R(5020e)=1 & IinTY9-=NA & R(1e)==2325 & R(le)=~=4547 THEN GO TO STEPS;
{R(5020.)=1 & INT9=NA) | R(14)=2325 | R(le)=4547 THEN GO TQJ STEP4;
R(50c0e)=2 & (R{1e)=2403 | R(1e)=2565 | R(1le)=4665 | RI(las)=4062
INTU=NA)
THEN GO TO STEP3;

R(5020e)=2 & INTO-=NA . : THEN GO TO STEP4;
K(50c0e)=3 & INTL=NA i * THEN GO TO STEP2;
K(50206)=3 & INTL-=NA i THEN 6O TO STEP3;
K{5020e)=4 & IinTc=NA : THEN GO TO STEPL1;
R(5020e)=4 & INT2-=MNA . THEN GO TU STEP2;
R(500e)=5 & INT3-==NA - THEN GO TU STEPL;

TO FINLSH;




PO S

STEP1: IF ((STAKT3-=NA t START3<BIRTHL) | (B8CJ43-=NA & BCJ3<3IRTH1)I) &

-

CR(le)==T764y 2412s 2095’ THEN D3

INDUS=R (42846 )3 J3IuUl=1,;, UCLC=R(4236e); HRS=R{4295.); WAGE=R(42%9%.);

CULSAR=R{43U0); CLAS3=R{4285.); ACTHRS=R (42594 ;

IF R(4285e61>=3 4 R{42354)<K=4 THEN CLASS=5;

F 3CJ3-=iNA . THEN DOU;

MSTAKT=R(43364); YSTART=R(4338.);

EnD; : :

IF £2CJ3=NA ' ! ' THEN DO
MSTART=R (4287e); YSTART=R(428%) ;

EiD; R

IF R(>50£04.)=5 : THEN D03
IF (START3<=INTZ | BCU3<K=INT2) & R(4100e)>=1 & R(4100.)<=2 & R(4970.)=1
’ ¢ THEN DOj
INDUS=R(34734); JB81D1=6; OCL=R(34754); HRS=R(3483«); WAGE=R(3482.);
CLASS=RI(34744); ACTHRS=R(3443.); CUL3AK=R{3488.);

[F R(3474¢)>=3 & R(347T4.)<=4 THEN CLASS=5;
END;
RLFT=-1; MSTOP=-1; YSTOP=-1;
END; .
GU TO ASS1GNMU; .
END;

IF (BINT3.-=NA & BIRTH1> BINT31) | (BINT31=NA & SINT31>0 & SINT31<=BIRTH1)
THEN DO;

INODUS=R(43574); JBIDl= 2; uUCC=R(4359.); WAGE=R(4362.); HRS=R(4363.);
MSTOP=R(4357e); YSTOP=R(4209.); MSTART=R(4364+); YSTART=R{4366.);
‘CLASS=R(43584}; KLFT=R{4370.); ~
iF R(4370.1= 0 THEN RLFT=-1;
L0 TJ ASSIULNIG;

END;
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IF (3iNT32-=NA ¢ SIRTAH1> BINT32) | (BINT32=NA & SINT32>0 & SINT32<=BIKTAL)
’ THEN DOUj3
INDUS=R(4395.); JBIDi= 3; UCL=R(4397.)3 WAGE=R(4400e); HRS=R(44014);
MSTOP=R(+4U05e); YSTOP=R(4407.); MSTART=R (4402413 YSTART=R{4404.);
CLASS=R{4396.); RLFT=R(44C8e]); MLEAVE=K (43904
iF R(4403e)= O THEN RLFT=-1;
G0 Tu ASSIULNMO;
END;

IF (BINT33-=NA & BIRTH1> BINT33) | (BINT33=NA & SINT33>0 & SINT33<=8IRTHLl)
: THeN DO,

INDUS=R(445334); uBIDl= 4; ulCl=k(4435.); WAGE=R(44384)3; HRS=R (4439.);
MSTOP=R(4450.); YSTOP=R{4444e); HMSTART=R (444U0e); YSTART=K(4442.) ;-
CLASS=r(4434e1; nLFT=R(4445e); MLEAVc=R{4428.);
IF Ri&445.)= O THEN RLFT=-1;
GO TU ASSILNMO;

END;

IF (BINT34=-=NA & BIRTAL> oINT34) | (BINT34=NA & SINT34>0 & SINT34<=gIRTH1)
THEN DO;

INDUS=R(4471e); JBIDL= S5; OUCL=K(44734); WAGE=R(44T76.1); HRS=R(4477.) 3
MSTOP=R(4451e); YSTOP=R(44834); MSTART=R (447841 YSTART=R (44804} ;
CLASS=R(44724); RLFT=R(44844); MLEAVE=R(44664)
IF Ri4484e)= 0 THEN RLFT=-1;
63 TO ASSIOGNMO; <

EnD; -
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STEP2: 1F ((START2-=NA & SﬁARTZ(BIRTHl) | (0CJ2-~=xNA & BCJ2<KBIRTAH1)) & R{le)n=

350 & R{14)~=2058 & Rile)~=4T730
INDUS=R(3473.)5 JblLl= 65 OCC=R(3475.);
CLASS=R (347441} ALTHRS=R(3448.1);

F R{U3474.)0=3 & R(34744)<=4

IF £Cu2-=nNA THZMN DO
MSTART=R(3516e); YSTART=R(35184.);
IF pbCys2 =NA
MSTART=R (34764
IF kK(50204)=4 '
IF (START2<=INTL |

YSTART=R{3478.);

oCJ2<=INT1) &

1NDUS=R(3266.5; JBID1=11; UCC=R(5270.); HR3

=R125604); WAGE=n(3290.);
=R(2551e); ACTHARS=RI(26Z2%4);
iF R(2551.12>=3 & R(2651.)<=4

CLASS

END

RLFi==-1; ©STOP=-1,;
IF K{50¢0.1)=5
IF R{4944,4,)=3

YSTOP=-1; cND;

IF R(4277«)>=0
END;

IF K(4280e)>=0
SND;

[F K(49444)>=1 & R{49444)1<=2 & R(4970.)=1

MSTOP==-1,; YSTOP==-1; RLFT=-1; END;
ENG;
GO TO ASSIGNMO;

END;

R{32063.)>=1

THeN Du;

HrKS=R (3483.); WAGc=R(3482.);

COLBAR=R(3488.);

THEN CLASS=5;

eND;
THEN DO;
ENU;
THEN DOj;
L R(3263.1<=2 & R{(38>54,.)=1
THEN DU;

COLBAR=R(25654) ;

THEN CLASS=5;

THEN DO
THEN DO;
MSTOP=R(4275.) ;

- THEN YSTOP=R(4277.) ;

‘THEN DO
MSTOP=R (42784 ) ;
THEN YSTOP=R(4230.);

THEN 00;
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IF (8INT21-=NA & bIRTAL> BInT2l) | (BINT21=nA & SINT21>0 £ SINT21<=BIRTH])
THEN DJ;
INUUS=R(3537T«); J3iDl= T; OCL=R(3559); WAGE=R(3542.); HRS=R(35434);
MSTOP=x(3547«); YSTOP=R(3549.); MSTAKT=R(35444)3 YSTART=R (35454} ;
CLASS=K(35384); RLFT=R(355Ue);
IF R(355Je)= 0O THEN RLFET=-1;
GO0 Tu ASSIOLNMO;
END; ‘ :

IF (BINT2s~=NA & BIRTAL> 8INT22) | (BINT22=NA & SINT22>0 & SINTZ2<=3IRTH1)
‘ £ THEN DO;

[NUUS=R(35754); gBiDl= 8; UCC=R(357T+); WAGE=R(35804); HRS=R(3581.]);

MSTOP=R(35685¢); YSTOP=R(35574); MSTAKT=R(3582.); YSTART=R(3534.);.

CLASS=K(35764); RLFT=R(35884); MLEAVE=R(3570);

IF R(3588¢)= O : ‘ THEN RLFT=-1;

60 TJ ASSIONMO; ‘ ‘

END; : :

IF (RINT23-=NA & SIRTAL> BInT23) | (BiINT23=wA & SINT23>0 & SINT23<=8IRTHL)
THEN DO,

INDUS=R(3613.); JBIDl= 9; OCC=R{(3615e); WAGE=R(3618e); HRS=R{3519%9);
MSTOP=R(36c3e); YSTOP=R(3625.); MSTART=R(3620.1 3 YSTART=R(3622.) ;
CLASS=R(3614e); RLFT=R(352be); MLEAVE=R(3608.);
I[F R(30626e)= O THEN RLFT=-13
LO TO ASSIGLNMO;

EiD;

IF (RINT24-=NA & sIKTH1>BINT24) | (BINTZ24=NA & SINTZ4>0 £ SINT24<=BIRTHI1)
THEN DO;3

INDUS=R(3651.); JBID1=10; OCC=R(36534); WAGE=R(3656e); HRS=
<(365T+); MSTOP=R(3661e); YSTOP=R(3603.); MSTART=R(36584); YSTART= ~
K(36606); CLAS>=RI(3652.);
KLFT=R(3564e); MLEAVE=R(3646.);
LF R(3964e)=U THEN RLFT=-13
G0 TuJ ASSIGNMO;

END;
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START1=

STEr3: IF (STARTL>=U & STA?TI(BIRTHL) | (oCJl-=NA & RCJLILKBIRTAL) |

-10000 | R(le)=3i74 | R(Fe)=1713 THEN D03

INDUS=R(3206e); JBID1=11; OCC=R(3270.); HRS=R{(¢660.);

WAGE=R (3290413

CLASS=R(2651.); ACTHKS=R (20244} COLBAK=R(26054) 3
F RI2651e)>=3 & R(26>01.)<=4 THEN CLASS=5;
IF bCJ1-=NA ' THeEN DO;

MSTARKT=R (2572} ; YSTART=R(2674.); ENO;

IF =2CJl =unA THEN DO;

ASTART=R (2053«); YSTART=K(2655.); ENuU;

IF K(>50204)=3 ' THEN DOj

IF (START1I<=I~NTU | BCJ1<K=INTO) & R(3278.)=1 & R{2£00.)>=1 & R(2200.1)<=2

: THEN DOj;
INDUS=R(1579.); JBIDL=16; UCC=R(1582.); ARS=R(1590.); WAGE=R(2208.10);

CLASS=R(1581.); ACTHRS=R(2209.); CULBAR=R{1595.);

IF R(158le)>=3 & R(1581le)<=4 THEN CLASS=5;
END;,
RLFT==1; MSTOP=-1; YSTUP=-1;
END;
IF R(5020.)=4 THEN DO;
IF R(4100.)=3 THEN DO;
MSTOP=R(3464.);
IF R(3465.)>=0 - THEN YSTOP=R(3456.);
END; .
IF R{41004)>=4 & R(4100.)<=8 ~THEN DOj
MSTOP=R(3467.);
IF R(3469¢1)>=0 THEN YSTOP=R(3469.);
cNU;
[F R{41U0e)>=1 & R{4100.)<=2 & R(3854.)=1 TrEN DO,
MSTOP=-1; YSTOP=-1; RLFT=-1; END;
END;

IF START1=-1000C & R(2200e6)>=i & R{2200.)<=2 & R(3278.)=1
IF 3CJu-=NA THEN DUO; MSTART=R(1602.); YSTART=R(1604.); END;

IF 2CJ0=MNA THeN DO; MSTART=R(1584.); YSTART=R(1586.);
EiND;

END;

THEN DC;3



IF $START1=-10000 & R(Z2u0e)=Na & R(13564)>=1 & Fage 10

K(13564)<=2 & R(3277e)=1 THeN DO;
MSTART=R(9914); YSTART=R(992«1); cND;

1F 5TART1=-10000 & R{2200e)=NA & R(1356)=NA &
K(T725e3>=1 & RIT26e)<=2 & R(32764)=1 THEN DO;
MSTART=R(1924); YSTART=R(193.); £ND;J
60 TU ASSIGNMO,

END;
iF (oINT11-=NA & BIRTH1> BINT11) |
(BINT11l=nA & SINT11>0 & SINTL1<=3IRTAHL)
THEN DO3
LNDUS=RI(2693.); JRiDLI=12; UCL=R(26954]); WAGE=R(26984); HRS=R(2699,) 3
MSTOP=K(2TU3.1; YSTOP=R{2705«); MSTART=R (270013 YSTART=R(2702.) ;
CLASS=R{2694e); KLFT=R(27004e1}3
1F R(27006e)= 0O THEN RLFT=-1;
60 TU ASSIGNMO;
EnD;

IF (21NTle-=NA & BIRTR1> BINTL2) | (BINT12=NA & SINT12>0 & SINT12<=BIRTHL)
THcN DO;

INUUS=R(2727.); JBID1=13; OCC=R(272%9e); WAGE=RI(2732.)} HRS=R(2733.)3;
MSTOP=R (273703 YSTOP=R(27394); MSTART=R(2734.); YSTART=RI(2736.]);
CLASS=R(27c8e); RKLFT=RI2740e);
IF R{2740.)= 0 ‘ ey THEN RLFT=-13
60 TU ASSILNMO,

END;

IF (RINT13-=NA & SIRTH1> BINTL3) | (BINT13=NA & SINT13>0 & SINT13<=3IRTHL)
THEN DO;3

INDUS=R(2761.); JRIDi=14; OCC=R(2763.); WAGE=R(27664]); HRS=R ({2767}
MSTOP=R(2771e); YSTOP=K(ZT773e); MSTART=R (276841 YSTART=R(2770.);
CLASS=R(2762e); RLFT=R(2774e);
iF R(2774«)= C THEN RLFT=-1;
GO TO ASSIGNMO;

£nND

IF (3iINTl4-~=NA & SIRTAL> BINT14) | (BINT14=NA & SINT14>0 & SINT14<=BIRTHl)
THEN D43

LNDUSZR(27954); JBID1=15; UCC=R(2797«); WAGE=R(2300.); HRS=R (2801413
MSTOP=R(28US5e); YSTOP=R(2807e); MSTART=R(2802«); YSTART=KR(2804.);
CLASS=R(2796.); KLFT=R(28081)3 )
IF R(2308e)= 0 THEN RLFT=-1;
o0 TS ASSIGNMO;

END;




STEP4: IF ((STARTI>=0 & STARTO<KBIRTH1) |
(BCJOU-~=NA & BCJOKBIRTHL) |

€ R(le)==2632) | R(1le)=4178 | R(1le)=3374)
INDUS=R(1579.); JBIDl=16;

=R(1590e); WAGE=KR(£208.10);

CLASS=R(1581la);

ACTHRS=R(2209.);
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(R(1583.)=1
£ R(le)n=4650
0CC=R(1582.);

HRS

THEN DO;
COLBAR=R(1595.);

IF R(15814)>=3 & R(15381.1<=4 THEN CLASS=5;

IF 5CJ0-=NA _ THEN DO;
MSTAKT=R (160Ze); YSTART=R(160&4s); END;

IF 5CJ0 =nA THEN DO;
MSTART=R (15844 ); YSTART=K(15864); ENU;

IF R(50204)=2 THEN 00;

IF (STARTOK=INTS | ©8CJUO0K=INT9 | R(1583.)=1) & R(157643)=1 & R(1356.)>=1 &
R{13564)<=2 THEN DO;
UCC=K(13584); INDUS=R(130245); HRS=R(9994); WAGE=R(1364.);
CLASS=R(13634); JBiD1=22; ACTHRS=R(961.);

IF R(13634)=4 THEN CLASS=5;

END;

RLFT=-1; MSTOP=-1; YSTOP=-1; END;

IF R(50¢06)=3
Ir R(32634)=3

IF K(2642.)>=0
END;
IF R(3263.)>=4 4 R(3263.)<=8

F R(26454)2>=0

END;

IF K(32634)>=1 & R(3263.)<=2 & R(3278.)=1
MSTOP==1; YSTOP=-1; RLFT=-13; END;

END;

THEN DO;

THEN DO;
MSTOP=R(26404.) ;

THEN YSTOP=R(2642.);

THEN DOj
MSTOP=R(2643.);
THEN YSTOP=R(2645.);

THEN DO;

IF K(15834)=1 & R(1350e1>=1 & R(135641<=2 & R(1570e3)=1 THEN DO;

MSTART=R(991.);

IF R(15834)=1 & R(1356.)=NA & R(1576s0)=1

MSTAKT=R(192.);
o0 TU ASSIGNMO;
END;

1F

R(l.)=4107
INOUS=R(1619.);
MSTOP=R(1630.);
CLASS=R(1620.);
IF R(1l0334)=10
G0 Tu ASSIGNMO;
cNU3

{BINTO1-=NA & BIRTH1>BINTO1l) |

YSTART=R(992.);

YSTART=R(193.);

JBIDL=17; OCC=R(1621.);

YSTOP=R(1632.);
rLFT=R(1633e)3

eND;3

END;

(BINTO1=NA & SINTO1>0 & SINTO1<=BIRTH1)

THeN DO;

MSTART=R(1627.);

WAGE=R(1625.1);

HRS=R (16264 ;
YSTART=R(1629.);

THEN RLFT=-1;

£ R(T7264)>=1 & R{T26.)<=2 THEN DO;




IF
INDUS=R(16574);
MSTOP=K(16584);
CLASS=R(16584);
IF R(1071+)=10
60 To ASSIGNMO;
END;

IF (B3iINTO3-=NA &« ZIRTH1> BINTG3) |

INDUS=RI(1697e);

MSTOP=RI(17584);

CLASS=R(1698.);

IF R{1711.})=10

60 TU ASSILGNMO;
EnND;

IF (5iNTO4==NA & BIRTH1> BINTO4) |

INVUS=RI(1T7324);

MSTOP=RI(1743e);

CLASS=R(173341});

IF R{1745.)=10

60 TS ASSIGNMO;
EnD;

IF

INDUS=R(17574);
MSTOP=R(17784);
CLASS=R(17684);
IF R(17814)=10
50 TU ASSIGNMO;

{BINTOz-=NA & BIRTAL> BINTO2) |

(RINTO5-~=NA &« BIRTA1l> BINTUS) |

Page 12
(BINTO2=NA & SINTO2>U & SINTO2<=BIRTH1)
THEN DO;
WAGE=R(16634);
MSTART=R (16654);
MLEAVE=R(1652.);
THEN RLFT=-1;

JBIDL1=18; 0OCC=R(1659.);
YSTOP=R(16704);
RLFT=R(1lo71le);

HRS=R (16644 ) ;
YSTART=R(1667.) ;

(BINTO3=NA & SINTO3>0 & SINTO3<=BIRTHL)
. THEN DO;
JBID1=19; UCL=K(1699.); WAGE=R(1703.); HRS=R(1704.);
YSTOP=K(1710e); MSTART=R(17054); YSTART=R(1707.) ;"
RLFT=R(1711le}; MLEAVE=R(16884);

: . THEN RLFT=-13

7

(BINTO4=NA & SINTO04>0 & SINTO4<=BIRTAl)
THEN DO;
WAGE=R(17384); HRS=R(1739.);
MSTART=R(17404); YSTART=R(1742.);
MLEAVE=R(17284);
THEN RLFT=-13

JBIDL=20; OCC=xR(17344);
YSTOP=R(1745.);
KLFT=R(17406e )3

{RINTO>=NA & SINTOS5>0 & SINTOS5<=BIRTH1)
THEN DO;
WAGE=R(17734)3
MSTART=R (17754 ;
MLEAVE=R(1763.);
THEN RLFT=-13

JBID1=21; OCC=R(1769.);
YSTOP=R(1780.);
RLFT=R(1781le);

HRS=R(1774.) 3
YSTART=R(1777e);




. Page 13
STEPS: IF ((START==NA & STARTOKBIRTHL) | (ODLUNS9-=NA & DLUN69<=BIRTH1) |
(GLUL69-~=NA € DLOL6I<=BIRTHL) | NR{1e)=241i9 | R(14)=2721 | R(le1=2840
| Rile.)=3624 :
| Rlle)=4671i | R({1e)=1078 | R(la)=4050 | R(1le)=4309))
£ R(le)==3834 THz=N DU;
JCL=K(1358e); INDUS=R(13092.5); HRS=R(999.); WAGE=R(1364.);
CLASS=R(1303.); JBID1=22; MSTART=R(991.); YSTART=R(992.);
ACTHRS=R(901l4);
J8IDL1=22; MSTART=R(9914); YSTART=R(992.); ACTHRS=R(961l.);

IF R{1353.)=4 ) THEN CLASS=5;

IF K(1356e)>=1 & R{1i3966)<K=2 THEN DU;

IF R(>0204)=1 ’ THEN 00;

IF STARIOK=INTE & (R(15769)=1 | R{1576.9)=2) & (R(T720e)=1 | R(T726041=2)
3 THEN DU;:

JCL=R(187e); Jolol=24; INDUS=R(138.); HRS=R(2054); WAGE=R(732.);
CLASS=x(731le); ACTHRS=R(1604);
iF R(73le)=4 THEN CLASS=S;

END;

RLFT=-1; MSTOP=-1; YSTOP=-1; GO TU ASSIGNMO; END;

IF &K(5020.1=2 THEN DO;

IF R(2200.)=3 THEN DO0; MSTOP=R(1570.); YSTOP=R(1572%); END;3

IF X(2200.)>=4 & R(22004)1<=8 THEN DJ; MSTOP=R(1574«); YSTOP=R(1576.)3; END;

IF K(22U0e)>=1 & R(22U0e1<=2 & R(1576.3)=1 THEN DO; RLFT=-1; MSTOP=-1;
YySTOP=-1; €£ND;

GO TO ASSIGNMU; END,




. Page 14
IF R(1356e)=23 / TREN DO;
[F R(979.)=1 ’ THeN DU
MyTUP=R (930.); YSTOP=09; ’
Ir (R(950e)>=4 o RI(I8Ue)1<=1c) | R{930e)>R(851s) THEN YSTOP=08;
IF (9% e)~=NA & R(10Ol%«)-=wA & R{9304)=R{10loe) THEN U0;
RLFT=R(1Jlce) s
IF R(1Ulge) =3 THEN RLFT=4;3 IF R(1018e)=6 THEN RLET=3;
I€ R(1JUl8e)=7 THEN RLFT=03 IF R{1J18e)=5 THEN RLFT=T7; EIND;
GJ TO ASSIGNMU; END;
[F R{979.)=2 THEN DOJs
IF x(T725e)=3 THEN DG3
MSTOP=R(18Bce); YSTUP=R(183.); RLFT=R(1854)
I= R(135.)=6 | R(15541=9 | R(155.)=11 THeN DU

"IF R(155e)>=2 & RI(1854)<=3 THEN RLFT=1;
"IF R(1556)=12 | R(1B3.)=10 THEN RLFT=6;
IF R(185.)=5 THEN RLFT=T7; )
IF R(185e)=7 | R(1ls54)=13 THEN RLFT=9; END;
GU TO ASSIGINMU; END; END;S
LF R(1350e1>=4 £ R(1350.)<=8 THEN DO;
IF R(98l.)=1 THEN DO;

MSTOP=R(9582e)3 YSTGP=R(3983e1);
IFr R{98Ze)-~=NA & R(982+)=r(1016.) THEN DO;
RLFT=R (101313
IE R(1018e)=3 THEN RLFT=4; IF R(1018.)=6 THEN RLFT=3;
IF R{10lse)=7 THEN RLFT=6; IF R(1018.)=5 THEN RLFT=7; END;
GJU TO ASSIGNMO; END;

iF R(931.)>=2 & R(98L.)<=3 THEN DO;3

IF R{T725e)=3 THEN DO;
MSTOP=R(1T79«); YSTOP=R(180.); END;

IF R{T720e)>=4 & R(T264)<=8 THEN DOG;

MSTOP=R(182e); YSTOP=R(183e¢); RLFT=R(1854);
IE R(185e)=6 | R(1354)=9 | R(185.)=11 THEN RLFT=33

IF R(1854)>=2 & R(L185.)<=3 THEN RLFT=1;
IF R(185.)=12 | R(1854)=10 THEN RLFT=6;
iF R(15541=5 THEN RLFT=173

IF R(1385.)=7 | R(135.1=13 THEN RLFT=9; END;
Gu TO ASSIGNMU; END; ENDJ .

IF K(1le)=2149 | R(1.)=2721 | R(1le)=284C | R(1le)=3624 | R({le)=46T71

I R{le)=10T78 THEN GO TO ASSIGNMOj3
END;

IF (RINTBY-=NA o bIRTAl> BINT39) | (BINT89=NA € SINT89>0 & SINT89<=BIRTAl) |
Rile)=3494 | R(1le)=3915 THEN D03

INUUS=R(1024e); JBIDL=¢3; 0CC=R(1032.); YSTOP=R(10304); MSTOP=R(1029.);

4RS=r(1026e); CLASS=R(1025«); RLFT=R(1031.]}3 MSTART=R{1027.);

YSTAXT=R ({1023 ;

LF X(1U3le)=3 THzN RLFT=4; 1F R(103le)=6 THeN RLFT=3;

iF R(lu3le)=7 THEN RLFT=0; IF R(1J31e)=5 THEN RLFT=T73

GO TJ ASSILNMG; cND;j




STEP6: IF (STARTB-=NA & STARTs< SIRTHL) |
R{le)=3040 | R(l.)=‘95‘t7 '

OCC=R(18T«);5 JBIO1=24%;
CLASS=R(731le); MSTART=K(192.);
iIF R{731e)=4

IF k(50c0a)=2
iF R{1356e)>=1 & R(135041<K=2
UCC=R(L1358e); INOUS=R(1362.5);
=R(1364e); CLASS=R{1363.);
JBID1=¢2; MSTART=R(991.);

CRLFT==-1; M3TUP=-1;
LF R(2¢00e)=3 THEN DJ;

o0 TU ASSIOLNMO;

INDUS=R(1084);
Y>TART=R(193.);

HRS=R (999, );

YSTART=R{992.) ;
1F R(220ue)>=1 €& R(2200.)1<=2 & R(157043)=1
YSTUOP==-1;
MSTUOP=R(1570.);
IF R(2200e1>=4 & R(2200.)<=8 THEN 0C;

rage 15
(DLULoB-~=NA & DLOL65<=BIRTHL) |

(OLUMoB-~=NA & DLUN68<K=BIRTH1)

THEN DO;
HRS=R (2054 )5 WAGE=R(732.);
ACTHRS=R (1604} ;
THEN CLASS=5;

THEN DO;
THEN DO;
WAGE

ACTHRS=R (961l.) ;
THEN DO;
END;
YSTOP=R(1572«);
MSTOP=R(1574.);

END;
YSTOP=R (15764}

eND;
END,;
1F R(T726e)>=1 & RI(T7266)<=2 THEN DO;
IF R(5020e) =1 THEN DO;
IF R(13564)>=1 & R(135661)<=2 & R(15769)>=1 & R(1576.9)< 2 THEN 0DO0;
MSTOP=-1; YSTOP=-1; RLFT=-1; EaD;
[F R({13564)>=1 & R{13564)<=2 & R(1576e9)>=3 & R(15769)<K=5
THEN RLFT=R(1599.); .
END; .
END;
iF R(726.)=3 THEN DO;
MSTOP=R(179e); YSTUP=R(130.); END;
[F R(7¢26e)>=4 & R(T7266)<=8 THEN DO
MSTOP=R(1BZe); YSTOP=R(183.); RLFT=R(185.);
IF R{185.)=6 | R(185.)=9 | R(185.)=11 THEN RLFT=3;
IF R(18654)>=2 & R(1854)<=3 THEN RLFT=1;
IF R(1854)=12 | R(185.)=10 THEN RLFT=6;
iF R{185.)=5 THEN RLFT=7;
IF R{185.)=7 | R(185.)=13 THEN RLFT=9; END; END;
ASS1GNMU: IF R(1e)=1iC78 | R(1e)=3374 | R{le)=3494 | R(le)=2419
| R(14)=3737
THEN YSTART=65;
IF K({1e)=46T1 THEN YSTART=63;
IF R{1e)=3123 | R{16)=2721 | R{1le)=3624 | R(1e)=4900 | R(le)=2087

THEN YSTART=60;




. : rage 1o
IF K(le)=3195,y 1596, 1875y 3404y 269 1909 2148, 25069y 2817y 44424 5009
THEN Y>TART=67;
IF R(1.)=1504s 4163y 64ly 3174, 5042 THcN YSTART=08; °

IF K(le)=2098 | R(1l.)=4102 THEN YSTART 69;
TFE R(ie)=3061 THEN YSTART 70;
F R{Lle)=1280 | R(1le)=4151 THEN YSTART=71;
IF Rlie)=1T713 . THEN YSTART=NA;
IF K(ie)=196 | K{le)=2148 | R(la)=64l THEN MSTART=1;
IF x(i1e)=94168 | R(1.)=5042 THEN MSTART=2;
IF x(le)=¢506 : THeN MSTART=3;
IF R(le)=26 | R(1a)=1504 THEN MSTART=8;
IF w{1e)=218T7y 3737y 4900y 3174y 2087, 3464y THEN MSTART=9;
IF k(1e1=5039 | R(1l.)=1596 THEN MSTART=11;
IF k(le)=4442 B THEN MSTART=12;
IF K({Lle)=1875 ) THEN MSTART=7;
IF R{ie)=3834,y 2412y 350y 1510s 4353+ THEN RLFT=-1; i
IF R{1e)=3834 | R(1a.1=350 | R(le)=2412 THEN YSTOP=-1;
IF K(1e1=3239 | R(14)=3500 | R(le)=4556 | R(le1=4730 | R{le)=1314
| R{le)=617T7 THEN YSTOP=NA;
IF KlieJ=1518 | R(1.)=1176 | R(1le)=4369 | R(1le)=595 | R(le)=30642
| R(le)=4152 THEN YSTOP=638;

IF Rl1e)=4650 | RI(1s)=4243 | R(le)=4353 | R(le)=1636 THEN YSTOP=69;
IF K(Le)=354 1214y 1363y 14UTy 1609y 1706, 1723, 1841y 2022y 21294 2349,
33159 31519 33209 3585« 3629+ 3643y 37809 42539 4541e 45479 46204y 50334 3687,
38254 4285 o
_THEN DOj;
YSTOP=R(244);
MSTOP=R(224);

END;

IF K(Le)=29T72y 2426y 10924 3123y 11624 3624+ 1943, 2617y 22384y 4629
THEN DQO;
YSTOP=YR9;
MSTOP=M09;

END;

IF K(le)=033, 3061y b64ly 3234y 793y 36069+ 1083y 3717, 1148¢ 41029 21309 4311ls

278¢s 4431 ' THEN DO;j .
YSTOP=R(14525);
MSTOP=R(1451.);

EinD;

IF K(le)=2302y 1975y 5379 3144y 13904 49334 1543, 4999, 1713, 3174 THEN DO;
YSTOP=R(25204);
MSTOP=R(2518.);

END;

IF R(1e)=780 | K{le)=4T769 THEN DOj
YSTOP=72;
MSTOP=R(3331.);
EnD;




IF R{le)=2412 | R(le)=
IF R(l1e)=1635 | R(la)=
IF R(le)=1518

IF R({le)=595

IF R{le)==177 | R(1la)=4730
F K(L1e}=4730

35
4243 | R(le)=4353

50 | R(le)=3834 THEN MSTOP=-1;

THEN MSTOP=-1;
THEN MSTQOP=8;
THEN MSTQOP=11;

THEN MSTOP=NAj
THEN RLFT=NA;

{F YSTUP>0 & MSTUP>0 & R(4942462)-=NA & R{4942.63)-=NA & R{4342.61)~=NA
THEN MUNTHS=((K(4942.62)-YSTUP)#12 + (R{4942.60)-MSTOP);

FINISm: IF JBIDl=U THcN DG;

JCi=-2; iINuUS=-2; WAGE=-¢2; CLASS=-2; MSTQP=-2; YSTOP=-2; ACTHRS=-2;

COLBAR=-2; RLFT=-2; MSTART==-2; YSTART=-2;
IF MONTAHS<O € MUNTHS-=NA -
IF JUBLDi=U THEN MUNTHS=-2;
I[f RLFT=-1 & MSTOP=-1 & YSTOP=-1
K(5031.)=0C0C;
R(5032.)1=1INDUS;
R(5033.)=CLASS;
K(5C34¢) =WAGE; -
(50354 ) =HRS;
R(50364) =ACTHRS;
K(5037e)=CULoAR;
R(5038e)=dsID1;
(50394 )=M5TART;
R(50404)=YSTART;
K(5041.)=MSTOP;
K(5042e)=YSTUP;
K(50434)=RLFT;
R(5044e) =MLEAVE;
K(50454) =MONTHS;

IF DCC=-2 & CLASS=-2 & INDUS=-2 THEN R(50464)9R(5047e)=-23

R{5047«)=BUSE(ICCe INUUSSCLASS);
R{5046¢ ) =DUNCAN(IGCC+INDUSsCLASS)

NAED: STOP

MLZAVE=-2; HRS==-2; END;
THEN MUNTHS=-1;

THEN MONTHS=-1;

END;

ELSE DO,
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